@& YAMAHA

U-BRACKET

SPEAKER BRACKET / SUPPORT D'ENCEINTE / SOPORTE DE ALTAVOZ E

KPEMJIEHUE ANA AKYCTUYECKOW CUCTEMbI ,
BREER/RAE-HN—T3rv bk

UB-DXRDHR12 i
UB-DXRDHR10

IS

Franca

Portugués

Owner’s Manual
Benutzerhandbuch

Mode d’emploi

Manual de instrucciones
Manual do Proprietario
Manuale di istruzioni
PykoBoAcTBO nosnb3oBaTernA
fERRAE

{EFEREAE

AlZ AEN

HiREHEAE

o
-

2= —
HEEHHEEEHEEHA
eh=301

(3
>



B &%

VBB oo 34
D === OO OO 34
BLEE T e 35
IR ..o 35
ANL73
JimAa

FEEERBA s 36
I s 46
RS 47

X EHE E Yamaha UB-DXRDHR12 8¢ UB-DXRDHR10 U B2 ©

REmAZERER > AR%ZE TS Yamahatz&es

UB-DXRDHR12: DXR12 ~ DHR12 ~ CHR12
UB-DXRDHR10: DXR10 ~» DHR10 ~ CHR10

FRAAZ ENMEREABUNARZE S LEEWE » BREEEXEERENRTERL
FIYRERZASEmRD » FAeFRIARAE « FBIAERPAE R - U EREUBRRZER -

- FEAERBAE S - DXR12 £ DXR10 57852375787 DXR1 > DHR12 £ DHR10 f§#87% MDHRJ » CHR12 £ CHR10 f§#8% TCHRJ ©

AEHEIA

PA_zhtw_14

KE AR A SRRE R
AR ASRAETFHRNZRER » UBEARRBEA -

AN

BpE8T TR IEEHE » UREFE « 150 « #fHI8% « KK
SHEHtERMEREGEEIETHAGEY - B IEREEE
BEFRRATIAR :

BRE

- RN LBY ) B EBANE
SBHRE M EARR R TAT © SRS
£330V E B AT AL E BRI o
ARG R RIS RIAB AN
SAOLERIBES - TR A ERE
QIR AR -

A ENE

BE

ZEAEFEGERRLERIN - AERE > NEEMIBENH
& o

- BAEMBERREEEAER L ° B/0ERE R AL IRATHES
IRIFAER °

AR ERBEER R B R E D TR o
LR EZTHEIREIRIEE - BRGE RIS -

oL PEIE AL

- ANERNEAER - BRI ETERERBEIAERE

A\ #E

HEFTHNERFIERE > Ukt ABSEZEHIRTEE
o EEFRFEEEFEBRRNTIAE :

[—]

a AE

]
%

]

- MRAERZEREM L > FHEHGIEN Yamaha AEEAS -

TWHEFRETUTEEFE -

- EENTRPRACEUBEV AR ERERNES -

- BRRARIIESUE -

- RV ETREZERER

- (EFRIEE ~ BB BEEITRE > WHREREHE » MRS
ERYEEEETEEE -

- BB EENAEN SR - B RREERRLG - UI7E
IBAABHELAOIRAE TR TREE -

- ERRERES °

34 | UB-DXRDHR12 UB-DXRDHR10 fEFAREAE

- BHAERBERS - DRIEFEEET - ERIHEREE o

m AR ASEREAE

- IERAE AR NEEE R IR o

- BFMROAD BBNER LB AHE S ATNERAEM
i o

m FAREE

- FERBZ LA -
ERENERR > BHEEENEBUFIEP



BEAT

o ERERIAE
(EREAE)

FOR
DXR

o PR X2 o T{fa X3
EAETmE o

FOR
DXR &DHR

WE o

]

RBEERNHERS > KIRELEEE -
#T¥CHR » %832 TFORDHR] ©

(@50 mm ~ 10mmE) X2

0 E4EaRE
FOR DXR & DHR FOR DXR FOR DHR (CHR)
M5 X 1012844 » & T2 E S8 M5 X 161844 » = 2B S8 M8 X357 A2 » 5FEE
ERE X4 EEE X2 S EEEAME X 4
M8 SEEEEARE] X 2 M8 X 2575 A 18# X 2 M8 X 5575 18 X 2 @.
I)))))))))))))))
)
% Dy
M8 FH[E X 2 EERY BRBE8R
‘ (@50 mm ~ 18 mmE) X2

#E > 32mmEX2 B X 1

O &

FAI DXR12

[E&RAR X 1

RRAIEE

BEAREEMRIE IR R E G SR TER EFTRAVEACH « BB EMY)M - MREFRERERMELE T > FtaEEAS ©

EE
A - BARERACUZREESEN U REENES - IRCTRERERACTNE » HiENEEAR - BRR U REREER

BENERERE -

- BBRDIEIEN AR ARG AEBEARETEMEE - SERER2M > 1§ §561 : DHRI0

HEMIRIBRRA U BRI M8 18447 - URIFHBRIEE (ME) M&NE (—8) B
M10 8447 (DXR10 # M8) - ¥} DHR £ CHR > fEFRE/TH 30-50 mm KARLE

2o

c RBGREEMENNE - FRRCRZBERIVEERE » LHHRE - —BinESE

% BROBRBERNDKAMER

FIHEAET RARRTEMERIRARAZEER > YamahaliF &g -

UB-DXRDHR12 UB-DXRDHR10 £ fzRPEZE | 35



R

TR LR B2 E H SR T L REAEEE S R TEMR L -

A

(f2FR DHR ~ CHR) SRS RILIZEER LI TRVIRM » BRIER -
R EMIL A BRSNS ﬁﬁt%?‘?ﬁ?i?”rﬁ’]#%?@)ﬂ%ﬁ
2 RERARRMERZTETRE - i T U ZUHRE > FREMERR
[EIREFAFLA ©

zE
ERFETERE U RRRIEEE 2R -

FRIEB A » BRIARBETHRIEE LG DXRIVIZERZ
47 UB-DXRDHR10 A& o

EERER
1. iZD"FFﬁﬁ_\ » fEFRRBMIAIMS X 108844 - i mufEl L Ut 2048
HRUE o HIPRIGBERR LHER » ABEFBREAER
HIRBEBINMA » EFURRIEE 2 » LERNABERLUEA °

M5X 10

A DXR FARDHRELCHR
10mmE 18mmE

2. BRUEBENESERSHRERNEE

3. GRBENSBITRRER » B URBREE RN K
et b - BEEBIERERRRERRAMBN - RET
HEESERMERRAEE UER > FEaEEAR

36 | UB-DXRDHR12 UB-DXRDHR10 fEMA:REAE

4. WTEFMT > ERATARERURNEET

H:tK E VL *&73“3 o

i 115185

DXR M8X 2575 A% « MBIEEEHE « M8 T2
DHR* CHR | M8X55/\A1#E1E « MBEEHE « MSFEE
H DXR

ARG ERmARERE LR
#T#DXR12 > ﬂﬁﬁ?a’9%%ﬁﬁfﬁﬂ¥5¥qﬂ918%%’i7f%¥LL1 g

NAER

|
1 el /[ pesvmme

DXR12

B DHR * CHR
HRBEEREmARRE L2

M8 X 55
V=L = e

!5 mmAAR
Fif AT b
Bz M8 IRAA o

5. ARHERNAE  HEHTER > HIBBERFFETE

BRI I4312.4Nm ©

o



K228

1. O FEFRT > ERARTEHREREENEETH  BERZ
KEHBREEDS -

DXR M5 X 168244
DHR + CHR | M8X35/;xAEH

DXRHVEEEIB /71753 Nm > DHREZCHRA12.4 Nm ©

M DXR

M5 X 16 244

B DHR * CHR

A5 mm7sBiRFHF
BRI LRV o

M8X 3575 A iRz

2. MITFEFR > EREBEHIEIMS X 109844 > $#im1E L B ig2esa
SRR UR o TR RIRBRR FRERE » ABEBRAEAR
HEZORE Rl » FEFURIRIMEE 2 » DB AR R LUEA ©

R DXR FADHREICHR
10 mm 18 mm
=2 =2

3. BIRUABEN BRI SRERNEE o

4. EREENSBITRRER > B URBEREEERENX
TEfR £ o UBUHZRELHETE 2 R & A MR - KB REA
BIfR » WABEEE - BEZBIEREBRREDEARE
B o ANIRACAFEE 216 MBLE R AC T EIE U BURIR - 5558
FIEEINSID

5. MTFEAT AR LBERESIEES 5N
LT U TR o

DXR M8X 257X A i8#e ~ MSBEEEME ~ MSFHHE
DHR + CHR | M8X35/ A

— M BB RIREME NI EEITRE -
DXR10 * DHR * CHR
IBFhRpBET

DXR12
HER BT LML

N

6. FEBEBNAE  HEMTER > ERBBRFFET o
EERE 43124 Nm ©

UB-DXRDHR12 UB-DXRDHR10 fEfzRREZE | 37



Specifications / FiARFE / %

UB-DXRDHR12 UB-DXRDHR10
Material / #1%} / #438 Steel / 0 / Steel / 0 / #
Net Weight / #E / ;FE 5.9 kg 4.4 kg

* The contents of this manual apply to the latest specifications as of the publishing date. To obtain the latest manual, access the
Yamaha website then download the manual file.

* Der Inhalt dieser Bedienungsanleitung gilt fiir die neuesten technischen Daten zum Zeitpunkt der Veréffentlichung. Um die
neueste Version der Anleitung zu erhalten, rufen Sie die Website von Yamaha auf und laden Sie dann die Datei mit der
Bedienungsanleitung herunter.

*

Le contenu de ce mode d’emploi s’applique aux derniéres caractéristiques techniques connues a la date de publication du
manuel. Pour obtenir la version la plus récente du manuel, accédez au site Web de Yamaha puis téléchargez le fichier du
manuel concerné.

*

El contenido de este manual se aplica a las ultimas especificaciones segun la fecha de publicacién. Para obtener el ultimo
manual, acceda al sitio web de Yamaha y descargue el archivo del manual.

*

O conteudo deste manual se aplica as especificagdes mais recentes a partir da data de publicagéo. Para obter o manual mais
recente, acesse o site da Yamaha e faca o download do arquivo do manual.

* |l contenuto del presente manuale si applica alle ultime specifiche tecniche a partire dalla data di pubblicazione. Per ottenere la
versione piu recente del manuale, accedere al sito Web Yamaha e scaricare il file corrispondente.

B cogep>kaHmu oaHHOro pykoBoAcTBa NpvBeAEHbI NOCNEAHME HA MOMEHT NybMKaumm TEXHUYECKME XapaKTepucTuku. [na
noslydeHuA NocrnegHen Bepcum pyKoBOACTBA NOCeTUTe Beb-canT Kopnopauum Yamaha u 3arpyaute ann ¢ pyKoBoACTBOM.

KNMERWABHNE N HRF BB AME, EE Yamaha Wb FEEMRAEIEA BB,
KMEMARAENARE 2 HAREFRIAVRAMTRE o 55E Yamaha $Hib T ERMARAERRAE -

= HEMOLHE2 LHY A 2| M AFE 7|E22 5t YASH. 2 HFME 7t 22 H Yamaha #AO|EOf| 43 5
SHEIAMMUS HZREROHAR.

*AER. BORRCORFERTHAL VI T &RIE. PYN\D I TYA 5500 RTEXT,

*

*

*

* You can also use the U-bracket along with an optional bracket that is sold separately. Please visit the following Yamaha Pro
Audio site for more information on the products:

*

Der U-Montagebligel kann ebenfalls mit einer optionalen, separat erhéltlichen Halterung eingesetzt werden. Weitere
Informationen finden sich auf der folgenden Yamaha Pro Audio Website:

Vous pouvez aussi utiliser la lyre en combinaison avec un support disponible en option. Veuillez surfer sur le site internet
Yamaha Pro Audio suivant pour plus de renseignements sur ces produits.

*

También puede utilizar la abrazadera en U junto con una abrazadera opcional que se vende por separado. Visite el siguiente
sitio web de Yamaha Pro Audio para mas informacién sobre los productos:

*

Vocé também pode usar o suporte em U junto com um suporte opcional vendido separadamente. Visite o seguinte site da
Yamaha Pro Audio para obter mais informagdes sobre os produtos:

*

E inoltre possibile usare la staffa a U insieme a una staffa opzionale venduta separatamente. Per ulteriori informazioni sui
prodotti, visitare il seguente sito Yamaha Pro Audio:

Bbl moxeTe Takxe ncnonbdoaTb U-06pasHbii KPOHLITEVH BMECTE C AOMOMHUTENbHBIM KPOHLITENHOM, KOTOPbIV NpogaeTcA
oTaenbHo. MNMocetute cneaytowmin cant Yamaha Pro Audio ana nonyyeHna 6onee nogpobHomn nHopmaumm o6 ngenmax:

EFAFBER U RS RS ESESRE, BSERER, HHEUT Yamaha Pro Audio Wik:
TN U BRI S SRR - ARERNESEM » HEHLUT Yamaha Pro Audio 4 -

HOHQl S 4 BT A UAE BN A BT S5 USLICE A B0l T3 AHAI3H % 2= 0f2f Yamaha Pro QL2 AfO|E S
TELTEYEY

*UJSTy MME BIEDA TV av TS50y hEHBPEDEBTERATER Y. RRERITEROVTY/I\ TJOFT—F 1T YA
becBELEEL,

*

*

*

[=] ks [s]

:

¢ https://www.yamahaproaudio.com/

46 | UB-DXRDHR12 UB-DXRDHR10 Owner’s Manual



Dimensions / JMER~T /1 R~

® UB-DXRDHR12

|
(f ® o] T
3.2
—>u<73.2
639
‘ 09~ ¢ 125 213
T e, O\ 5%3 AL T=1 E{}—;f
131 - oMo e - 80
RN - - :
—
085~ 127 70 @ 10
250.2 L 250.2
397
389
0o~ ¢ 15—= ?13
T {%3\‘9 xzj)@ <> b
,,,,, bl
- 2 t e
wsst ‘%1274
125.1 —»h—125.1
m UB-DXRDHR10
|
o o o] t
3.2
32
| 551 »
?9 ‘ 213 —‘
= o \ /@ I o e f——
106 T -—0—- W / B r 56
JL@ o ’ I '
\Rmsto.s 10
+——120—» 32
le———213.8———»le——213.8——»|

346
337

g

ER AR

" 10— | T

+«—120—

le——213.8——»

UB-DXRDHR12 UB-DXRDHR10 Owner’s Manual

®9

9

266.5
356
411

Unit: mm
BARTT © mm

2225
327.5

Unit: mm
BART © mm

47



Yamaha Worldwide Representative Offices

For details on the product(s), contact your nearest Yamaha representative or the authorized distributor, found by accessing the 2D barcode
below.

Wenden Sie sich fir nahere Informationen zu Produkten an eine Yamaha-Vertretung oder einen autorisierten Handler in Ihrer Nahe. Diese
finden Sie mithilfe des unten abgebildeten 2D-Strichodes.

Frangais

Pour obtenir des informations sur le ou les produits, contactez votre représentant ou revendeur agréé Yamaha le plus proche. Vous le trouverez
a l'aide du code-barres 2D ci-dessous.

Para ver informacion detallada sobre el producto, contacte con su representante o distribuidor autorizado Yamaha mas cercano. Lo encontrara
escaneando el siguiente codigo de barras 2D.

Italiano

Per dettagli sui prodotti, contattare il rappresentante Yamaha o il distributore autorizzato piu vicino, che & possibile trovare tramite il codice a
barre 2D in basso.

Portugués

Para mais informagdes sobre o(s) produto(s), fale com seu representante da Yamaha mais préximo ou com o distribuidor autorizado acessando
o cédigo de barras 2D abaixo.

Pycckui

YTo6bI Y3HaTb no,u,po6Hee O npoaykTe (npo,quTax), CBSDXUTECH C GnivxanLmm npencrasuTenem uUnn aBTopu3oBaHHbIM ,ElMCTpM6bIOTOpOM
Yamaha, Bocrnons3oBaBLINCb ABYXMEPHbIM LUTPUXKOOOM HUXKE.

B
MBFEXTmBFAER, BRAELCRENYamahaUREURINEHER, @A THH 2D FEHREIXENRIEHEHTN

.
=8,

FREH
MBEMAVFAEN - FHARRCERERITA Yamaha SHERRIIRELHRE - SRR T AN ZERSEEEMBEER -

oh=0]
HZoil chet Xt et F == o2l 2D HEZE0i| AM| ASH 717H2 Yamaha B HONE L= SA CH2|H0l| 22sHAIL.

https://manual.yamaha.com/pa/address_list/

Head Office/Manufacturer: Yamaha Corporation 10-1, Nakazawa-cho, Chuo-ku, Hamamatsu, 430-8650, Japan PAG1
Importer (European Union): Yamaha Music Europe GmbH Siemensstrasse 22-34, 25462 Rellingen, Germany
Importer (United Kingdom): Yamaha Music Europe GmbH (UK) Sherbourne Drive, Tilbrook, Milton Keynes, MK7 8BL, United Kingdom

Yamaha Pro Audio global website
https://www.yamahaproaudio.com/

Yamaha Downloads

HORERETm (PE) BEAGRLA
LEmEHEZXEEK 18185 =FfIK/E 21
EPRE#HL: 4000517700

AT ML https://www.yamaha.com.cn

I #&: BOREF (M) GRAHE
T ik IHEBMmAMAEELRE 185

https://download.yamaha.com/

© 2024 Yamaha Corporation
Published 01/2024
2024F1R &1T

IPES-AQ

B [VHA5230



	目錄
	介紹
	注意事項
	包裝內容
	安裝前檢查
	安裝說明
	規格
	尺寸

